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QUESTION 1

An administrator has recently added two additional nodes to an existing three-node Nutanix cluster, which hosts critical
business application VMs. The administrator will tolerate losing up to two nodes simultaneously within the cluster. 

Which two actions are required to achieve this with minimum effort? (Choose two.) 

A. Modify cluster to RF3 

B. Migrate VMs to new RF3 container 

C. Convert container to RF3 

D. Create a new RF3 container 

Correct Answer: AC 

 

QUESTION 2

An administrator with an AHV cluster notices that time/date stamps in logs for some VMs are not correct. After
investigating, the administrator finds that many of their user VMs are set to UTC 

What two methods can be used to resolve the issue? (Choose two.) 

A. Configure NTP within Prism. 

B. Configure the VMs time zone inside each guest VM. 

C. Configure the time zone for each VM using Prism. 

D. Configure NTP inside each guest VM. 

Correct Answer: AC 

 

QUESTION 3

Refer to the exhibit: Based on the exhibit what can be definitively determined about Host DEMO-AHV-2\\' 

A. it has performed more on-disk lookups than the other nodes. 

B. It\\'s cache is undersized compared to the other nodes. 
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C. The system memory is undersized. 

D. It is hosting a higher quantity of VMs than the other nodes. 

Correct Answer: A 

 

QUESTION 4

An administrator needs to replace a node in a three-node cluster. The health status for the environment is good and the
cluster is able to support a single node failure. 

Which step must be performed first? 

A. Remove the failed node from the cluster 

B. Verify hypervisor versions 

C. Plug in all network cables 

D. Expand the cluster with the new node 

Correct Answer: D 

 

QUESTION 5

An administrator is upgrading a current three-node Nutanix cluster with new HCI nodes. Currently, the environment is
based on a Single two-unit chassis hosted in one cabinet. 

By simply changing the system form factor, what new level of resiliency may this customer achieve? 

A. Rack awareness 

B. Block awareness 

C. Metro Availability 

D. Better replication factor 

Correct Answer: B 
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